- Pl

Fall 2013 - Problem 7 - Optics Solution . Page 1301‘ 3

O prte D rllew 4

a) Th regmim ¥ 70(\/@ kit o« curved muneer wity roc = §
e} (hecosse o dorlle posseh s has @

foeal tovgdta oF B2, et a mmror
Wl e R his o foeal ’W\ﬁ‘/ﬁ« of
<—&—‘;( Nl)

Ton eﬂ«u ng\clt/m;\-cm, q‘kt heom waxt (s dCh&{ Ll WM’MV{‘

& e 1eFt,
e wud o asdablich « wode waut s2e oF W, Qofmp%d(m?
fo o Rayleh toge of Zo=TwY L e touw et

M rac ojs\‘ (h/\’k GCawssiont %emm Ot?\{h\Q QO’N/‘Zﬂ{ mirngt has

A metdh The ROC o the murmf (‘?W‘ a stable Cm“%)
Thw, Frem Hie Guassian paom (QNPAJHNW EZU&JFWS

3 TR "
K" [( + Zz ] (7\ i'l"" q{TJ
For @Pmpmﬂw\*?w didmmee of d .
. R: d‘l-_%_ai o A'z,m42:a

> g RH(TE | R (Er, oY)
2

Whatre 2,2 Tws>
A




— 2 -

Fall 2013 - Problem 7 - Optics Solution Page 2 of 3

C) T\/& t\%m«@md‘ L\M <fk j;a(lawmg, (J{m %Pa\m O&Vw\l(?gf

- 06 OG 0

£ € S S N

2d ad

F” @Sﬂﬂﬁ (QMS’ S@s{em Wﬁ §Vzaé 7 7 ti< g’)?’\f‘m }:7

o £ d44f
(’})l&re dktzé)\oq
.(Ma +

0L 24 L2%, ¢° (7{ ~+
&) ot e b ¢ move o (e center of “%kce resendor,
(hen Fue e drin a‘m«?_a? L'( gw‘en )17:

< v f f

gnd e e ge o4 qF



-_— )

Fall 2013 - Problem 7 - Optics Solution Page 3 of 3

<) (se ARCD mokvix o redete aaict M Freut

/

Prcal Plare of b b wait mn hack foeal plame,
Wo
I

é————aé—%—%

_\l
( *ﬁ_ [ 0 [ fo _ 0 ‘E - A B
. =
["‘M%\ o § O < 0
ADNCO M\N g%ékg 7- (2=4) = AZ* S
et (8 T
(&Qm&\ dSnkion of 3, :
A 1 \ ,
e T . S I 2=
{ R& 1w Thw,® ( Re)=o)
e N—
T el ouUn CusR
B NG S A B o
7 Tn Wy
and L S "L'-’RMUOIQ 1 ( A

+@El T T R.(2)  Thwe(E)






